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1 DE BEX =®X YEF 394 BRI SR 3 14 10.32 1

4 i RH RE# ™ Yayhy EEER 1 15 10. 44 2

9 DE 5 #HE THYN H4RT BRIl ER 2 15 11.83 3

7 i FH MU E34 Yanv FEREER 2 15 12. 41 4

3 DE BR A% Mt Yavs BFRIER 3 14 13.40 5

6 D XHEZN 313V Ya9/2r FEREER 2 15 13.97 6

10 i HE FA 3r¥ Ak FEREER 2 15 14.17 7

8 D RE Rz Ny b vaat FEREER 2 15 14.97 8

14 i INR RIS MR RY FRlER 2 14 15.29 9

5 aa —ik bid b9 Y2y EREEKR 3 14 15.62 10
16 a i) B hya° 7 h4 ERFERE R 1 145 15.84 11
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18 i HF 5% /773 71k FEREER 2 15 16.87 17
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30 DE WX fEs YWEb 493 ERZERER 1 14 25.50 29
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17 g FF $F /77 Tih FEREER 2 12. 65 18
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